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iMDTE:Fuur possible answers A, 8, C and D to each guestion are given. The choice wnich you think isi
i correct, fill that circle in iront of that question with Marker or Pen ink. Culting or filling two or!

is equal to’

? more circles will result in zero mark in that question. g
03 20
. 'Fhe geometric mean between =2i and 87 is:

YRR (B 137

(U 23 (I2) 4 ﬁ
2. 1f A und B are mutually cxclusive events, then P(A U B) is equal to:

PAY PLA) + P(B) - (B) P(A) - P(B)

() AB) (D) P(AYP(B)
3 1"C = "C,y , then nois equal to:

(A3 B {8y 12

(Cy 20 (DY 0O
4. i the expansion of (x + y)%, middle term is:

(A 1, (B) T,

({1 (D) T,
S, If, is a positive even integer, then Llji 8 i J ......*i-lﬁln'il} i 1h: €

Rk v (B >“'
(cy 2 T "-'f-:wma W
1 e = s
G.  An angle in the standard pusitwn wheseierminnl side falls on x — axis or y —axiss; ‘
(A Lm_: eral angle (B} Coterminal angle
10 Caadrantal angle {2} Acue angle

cos(w = ) is equal 1o:
Ly maw {B) ~cos B
{1 cosl (D) secO

: e of Cosine functien i
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g. laoam z,‘;:ili(f' FEgrsry =
Y "1," i |B) .‘l}
60 A £Dy a :
; s —b)s =) |
1), With usual notation ,\jt ]l(:-—) s equal to:
v "
FA] TR {13 r;ll'l%
() sinb (D) sind
FE. cos V=) is egual to:
o B B) —+sin'x
Ay R oA ) 5+ x e’
(Cy o7mecon ' ";
12. Solution of the equation tan x + | = 0 is:
| 3n ] 5
(AY Ty i
() =~ nxj :
13, 12 =3+ ib, whatiis thewvalue of cos@?
5 i
(A} a_.ri' {B’ a—'l
s |
I b .
I4. A function f: A — B s surjective ift ﬁ
(A) Range /A (B3) Range /=B
(C') Range (=B {D) Range I'# A
15, Determinant of any unit matrin has value:
LA ;‘r:_srcuy:r than | ' (B) less than |
ity | - ’ (D) zero
b, A square matrix A is skew-symmetric if A'is equal to:
TA) A (B) -A
tCH ,"!\1 ([J} A®
17. The discriminant of av* + by +e=0 a0 iy
(A) b+ dac {B) dac - b* .
1y bt dac (I ® — dni
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The degree to the equation ” + 3+ dx + 5= 0 is:

(A

iy 32 1
.1: - i " - . 3 > Iy
-Q{"ﬂ will be improper {raction i

A} Degree ot Q-2
(C) Degred o8 Q) = 4

}_,]“ 1s equai (o:

5 Py
(Y 7"

F

(B) 3 |
RETEm N A B

(B) Degree of Qx) =3
(D) Degree of Q(x) =3

O
(13) 3
() ntn - H
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st the term iovoiving: « i the expansion o143 2y

wirt Use brsomial thearem. find the vatue 1o three decimal places (1.03)°

G4 Attempl any nine pars. (18}
. ? -
iy Verily 2sindy - 2 cosecdd T 7 o
B g t 2tant 2 ginG 3
(11 Provelhal 750000 © < SINY COsY.
iy Prove that an{1s” - Apxan (457 - Aa) + 1
sin ;
Srave-th : —, =lana
o Prove thal T
v Define pened ol a trigonometnc junclion,
o
(vii Provethatr - (= - m)ytan 4
| Yy :
(viry Prove that tan © -4 e 2 =n 5.
II . .:

{ix)

(X3

IXYye

{viin STW S T cos a0

-

Solve the trigonometric eguation sec 0= *}’é v

Find the radius of the circle n \\Imh tire

'E; &F f
an are of length 35cn. LIRTR [T B e
§ " ¢ . .L.B
If 2, 5 be the angle ofa !rnngk ABC then prove that €0S =sin /1

(it Find the smallest angle of AABC, whena = 37.34, b=3.24, ¢ = 35.06.

(xiii) Find arca of wiangle ABC given three sides a = 18, b=24 , ¢ = 35.06.

Note:  Atlempt any THREE questions.

05. (a)
(b)
06 (a)
(b)
Q7. {a)
(b}
NnR =

PART - II

Converl into logical form and prove by truth table of (AMB)' = A'UB". 5
Find the value of2 it given system has non-trivial solution. 5
X, + 4%, + Axy =0, 2%y + X, ~ 3%y =0, 3%, + Ax,—4xy =10

i a.b are the roots of x2 = px - p - ¢ = 0, then prove that: (1+a) (1+p) =1-C. 5
Resoive info partial fraction i+ b")(:? .t ﬁi,w +09) ]
The sum of 9 terms of 8 A.P is 171 and Hs eighth term is 31. Find the series. ) ]
il x is very nearly equal 1 then prove that: px* —gx® = {p-q) x"*". 5
Cind tho value nf ramainine irinaramaivin bomaiine =f ales -.--l- ROU C TUE CR S .
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angte 1s not in quad I

sindt) , cos3v
. DUGL - B0NVL & 0
Prove that: “poei ™ “gint) 26p12
Prove thatr, + 1, + r; -1 = 4R,

3

o B R 77
Prove that: sin™! 5 510 1“1'7' =sin" g5
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